3-Digit Minus 3-Digit Subtraction (J)

Name:

990 — 391 =
725 — 363 =
806 — 480 =
548 — 276 =
488 — 142 =
985 —421 =
550 — 499 =
225—-149 =
727 — 423 =
635 —472 =
785 —175 =
986 — 268 =
671 — 338 =
851 — 569 =
586 — 400 =
550 — 294 =
877 — 532 =
936 — 375 =
679 — 213 =
486 — 108 =
841 — 821 =
609 — 591 =
957 — 375 =
670 — 289 =
862 — 331 =

Calculate each difference.

656 — 331 =
317 — 101 =
701 — 346 =
755 — 297 =
964 — 278 =
821 — 466 =
805 — 523 =
744 — 462 =
783 — 356 =
376 — 199 =
455 — 332 =
790 — 292 =
641 — 544 =
794 — 648 =
762 — 423 =
981 — 720 =
747 — 602 =
567 — 312 =
279 — 220 =
852 — 158 =
931 — 308 =
897 — 861 =
471 — 467 =
998 — 547 =
762 — 334 =

Score:
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3-Digit Minus 3-Digit Subtraction (J) Answers

Name: Date: Score:

Calculate each difference.

990 — 391 = | 599 656 — 331 = | 325
725 —363 = 362 317 —101 = 216 |
806 — 480 = | 326 701 — 346 = | 355 |
548 — 276 = | 272 755 —297 = | 458 |
488 — 142 = 346 964 — 278 = | 686 |
985 —421 = 564 821 — 466 = 355 |
550 —499 = 51 805 —523 = 282
225—149 = | 76 744 — 462 = | 282
727 — 423 = 304 783 — 356 = 427
635 —472= 163 376 —199 = | 177 |
785 —175 = | 610 455 —332= | 123
986 — 268 = | 718 790 — 292 = | 498 |
671 —338 = 333 641 — 544 = 97 |
851 — 569 = | 282 794 — 648 = | 146 |
586 — 400 = 186 762 — 423 = | 339 |
550 — 294 = 256 981 — 720 = 261
877 — 532 = 345 747 — 602 = | 145 |
936 — 375 = | 561 567 — 312 = | 255 |
679 — 213 = 466 279 —220 = 59 |
486 — 108 = | 378 852 — 158 = 694 |
841 —821= 20 931 —308 = 623 |
609 — 591 = 18 897 — 861 = 36 |
957 — 375 = | 582 471 — 467 = 4
670 — 289 = | 381 998 — 547 = | 451 |
862 —331 = 531 762 — 334 = | 428 |
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